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I. Multiple Choices (單選題，42 points, with 3 points for each question)
Ch 23
1. Anna, a Taiwan citizen, works only in Germany. The value added to production from her employment is included 
a. only in Taiwan GDP.

b. only in German GDP.

c. in both German and Taiwan GDP.

d. in neither German nor Taiwan GDP.

Ch 24

Use the table below to answer the following two questions.

	year
	price of pork
	price of corn

	2003
	$20 
	 $20

	2004
	$20 
	 $30


2. Suppose that the basket of goods in the CPI consisted of 3 units of pork and 2 units of corn. What is the consumer price index for 2004 if the base year is 2003?

a. 100

b. 105

c. 115

d. 120

3. Suppose that the basket of goods in the CPI consisted of 3 units of pork and 2 units of corn. What is the inflation rate for 2004?

a. 33.3 percent

b. 25 percent

c. 20 percent

d. 15 percent

Ch 23

4. Which of the following non-market goods or services is included as an estimate in Taiwan GDP?

a. the value of unpaid housework

b. the value of vegetables that people grow in their gardens

c. the estimated rental value of owner-occupied homes

d. None of the above are correct.

Ch 24

5. If the nominal interest rate is 8 percent and rate of inflation is 2 percent, the real interest rate is

a. 16 percent.

b. 10 percent.

c. 6 percent.

d. 4 percent.

Ch 25

6. If there are constant returns to scale, the production function can be written as

a. xY = 2xAF(L, K, H, N).

b. Y/L = A F(xL, xK, xH, xN).

c. Y/L = A F( 1, K/L, H/L, N/L).

d. L = AF(Y, K, H, N).

Ch 26

7. The source of the supply of loanable funds

a. is saving and the source of demand for loanable funds is investment.

b. is investment and the source of demand for loanable funds is saving.

c. and the demand for loanable funds is saving.

d. and the demand for loanable funds is investment.

Ch 26

8. Other things the same, a government budget deficit

a. increases both private saving and national saving.

b. increases public saving but reduces national saving.

c. reduces both public and national saving.

d. reduces private saving, but increases national saving.

Ch 28

9. The labor-force participation rate measures the percentage of the

a. total adult population that is in the labor force.

b. total adult population that is employed.

c. labor force that is employed.

d. labor force that is either employed or unemployed.

Ch 27

10. If a person is risk averse, then he has

a. diminishing marginal utility of wealth, implying that his utility function gets flatter as wealth increases.

b. diminishing marginal utility of wealth, implying that his utility function gets steeper as wealth increases.

c. increasing marginal utility of wealth, implying that his utility function gets flatter as wealth increases.

d. increasing marginal utility of wealth, implying that his utility function gets steeper as wealth increases.

Ch 27

11. Marcus puts a greater proportion of his portfolio into government bonds. This

a. increases both risk and the average rate of return

b. decreases both risk and the average rate of return

c. increases risk, but decreases the average rate of return

d. decreases risk, but increases the average rate of return

Ch 28

Use the graph below to answer the following two questions.
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12. If the minimum wage is $5, the number of people unemployed is

a. 40 and if the minimum wage is $6 it is 0.

b. 20 and if the minimum wage is $6 it is 20.

c. 40 and if the minimum wage is $6 it is 20.

d. 0 and if the minimum wage is $6 it is 0.

13. If the minimum wage rose from $6 to $7, unemployment would

a. rise by 40.

b. rise by 20.

c. fall by 20.

d. fall by 40.

Ch 25

14. Which of the following statements is FALSE?

a. The catch-up effect is based on the assumption of diminishing returns to capital.

b. Investment in poor countries from rich countries is one way poor countries can learn new technologies.

c. If developing countries limit career and educational opportunities for women, birth rates are likely to be lower.

d. The catch-up effect refers to the idea that it is easier for a country to grow fast if it starts out relatively poor.

II. 計算題與申論題 (總分：58 分)

(計算題請寫計算過程，只有答案不計分。若公式正確但計算錯誤則部分給分。
分析題請說明、並依題目要求做圖。)

Ch 26
1. Regarding the financial system in our economy, please 
(1) name two financial markets. (4%)
(2) name two financial intermediaries. (4%)
Ch 27

2. A firm has four different investment options. Option A will give the firm $21 million at  the end of one year, nothing at the end of two years, and $9 million at the end of three years. Option B will give the firm $5 million at the end of one year, $10 million at the end of two years, and $15 million at the end of three years. Option C will give the firm $15 million at the end of one year, $10 million at the end of two years, and $5 million at the end of three years. Which of these options has the highest present value if the rate of interest is 5 percent? (14%)
Ch 24

3. Ethel purchased a bag of groceries in 1970 for $8. She purchased the same bag of groceries in 2003 for $25. If the price index was 40 and is 180 in 2003, what's the price of a 1970 bag of groceries in 2003 prices? (6 %）
Ch 28
4. According to the theory of efficiency wage, please list four possible reasons and explain why a firm may prefer higher than equilibrium wages. (8%)
Ch 26
5. If in a given year an economy has consumption of $3000, investment of $2000, government purchases of $1500, exports of $500, imports of $600, taxes of $1600, transfer payments of $400, and depreciation of $300,  please calculate the followings: (Total:10%)
(1) GDP (3%) 
(2) National saving (3%)  
(3) Private saving (2%)   
(4) Government deficit (2%)  

Ch 26

6. Suppose the government borrows $20 billion more next year than this year.

Use a supply-and-demand diagram to analyze this policy. 

Does the interest rate rise or fall? What happens to investment? 
To private saving? To public saving? To national saving? （12 %）
